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Note:- This paper is of Forty (40) marks containing 

three (03) Section A, B and C. Learners are 

required to attempt the questions contained in 

these Sections according to the detailed 

instructions given therein. 
uksV%& ;g iz'u&i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa d] [k rFkk x] esa foHkkftr gSA f”k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ”kksa ds vuqlkj gh iz”uksa ds 

mÙkj nsus gSaA  
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Section-A ¼[k.M&d½ 
(Long Answer Type Question) / nh?kZ mÙkjh; iz”u 

Note:-  Section ‘A’ contains four (04) long-answer-

type questions of Nine and Half (9½) 

marks each. Learners are required to 

answer any two (02) questions only. 

     (2×9½=19) 

uksV%& [k.M ^d* esa pkj ¼04½ nh?kZ mÙkjh; iz'u fn;s x;s gSaA 

izR;sd iz'u ds fy, lk<+s ukS ¼9½½ vad fu/kkZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz'uksa ds mÙkj 

nsus gSaA 

 

1. Write an essay on Lac culter in India. 
 Hkkjr esa dhV ikyu ij fuca/k fyf[k;saA 

 

2. What do you understand by pest? Describe 

life cycle and control of any one pest of 

food grain? 
 vki ihMd ls D;k le>rs gSa\ fdlh ,d [kk| cht 

ihMd dk thou pØ o fu;a=.k dh leh{kk dhft;sa\ 
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3. Define and explain Arithemetic mean, 

geometric mean. Mention merits and 

dismerits of each measures? 
 vadxf.krh;@lekarj ek/;] T;kehrh; ek/; dh 

ifjHkk’kk le>kb;s] muds xq.k rFkk nks’kksa dk mYys[k 

dhft;sa\ 

4. Define ethology. Describe the role and 

Taxes and kinesis in animal behaviour? 
 bZFkksykth dh ifjHkk’kk nhft;s] tUrq O;ogkj esa 

vuqpyu ,oa xfrØeksa dh Hkwfedk dk o.kZu dhft;s\ 

 

Section-B ¼[k.M&[k½ 
(Short Answer Type Question)/ y?kq mÙkjh; okys iz'u 
Note:-  Section ‘B’ contains eight (08) short 

answer type questions of Four (04) marks 

each. Learners are required to answer any 

four (04) questions only.    (4×4=16) 

uksV%&  [k.M ^[k* esa vkB ¼08½ y?kq mÙkjksa okys iz'u fn;s 

x;s gSaA izR;sd iz'u ds fy, pkj ¼04½ vad fu/kkZfjr 

gSaA f'k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz'uksa ds 

mÙkj nsus gSaA 
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1. Write an account of communication 

behaviour of animals. 

 tUrqvksa esa lapkjh LoHkko ds ckjsa esa fyf[k;sA 

2. Write short note on dancing behavior of 

honey bee. 

 e/kqefD[k;ksa esa u`R; fØ;k ij laf{kIr fVIi.kh fyf[k;s\ 

3. Describe life cycle of silk worm? 

 js”ke dhV ds thou&pØ dk o.kZu dhft;s\ 

4. What is biological control? Discuss briefly it 

scope in pest control. 

 tSfod ?kMh D;k gS\ ihMd fu;a=.k esa blds L=ksrksa 

dh laf{kIr esa ppkZ dhft;sA 

5. Write short notes on hypothalamus and 

behaviour. 

 gkbikSFksysel vkSj O;ogkj ij laf{kIr fVIi.kh 

fyf[k;sA 

6. How social behaviour is advantages to 

animal explain? 

 tUrqvks esa lkekftd O;ogkj dh mi;ksfxrk crkb;as\ 
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7. Oxygen consumption of 8 fishes was 

recorded as 35, 44, 38, 36, 39, 40, 42 and 

41 CC/100 ml/ Hour find out medicine from 

the given data? 

 8 eNfy;ksa esa vkDlhtu dh [kir ntZ dh x;h FkhA 

35] 44] 38] 36] 39] 40] 42 vkSj 41 lhlh@100 

feyh@?kaVk fn;s x;s vkadMks dh ef/;dk fudkfy;s\ 

8. Calculate the Harmonic mean of series- 

1,5,10,15,25 

 fuEu J`a[kyk ds vuqdwy ek/; dh x.kuk dhft;s\ 

 

Section-C ¼[k.M&x½ 
(Objective Type Questions) oLrqfu"B iz'u 

Note:-  Section ‘C’ contains ten (10) objective type 

questions of Half (½) marks each. All the 

questions of this section are compulsory. 

      (10×½=05) 

uksV%&  [k.M ^x* esa nl ¼10½ oLrqfu"B iz'u fn;s x;s gSa] 

izR;sd iz'u ds fy, vk/kk (½) vad fu/kkZfjr gSaA 

f”k{kkfFkZ;ksa dks bues ls lHkh iz'u vfuok;Z gSaA 
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Fill in the blanks 
[kkyh LFkku Hkfj,& 

1. Cultrual of fishes in called__________. 

 eNfy;ksa ds lao/kZu dks__________ dgrs gSaA 

2. __________ Caused by Ascaris 

Lumbricoides. 

 ,Ldsfjl yqeofj dkWfMl }kjk __________ jksx 

gksrk gSA 

3. Root mean square deviation from mean is 

_________. 

 ehu ls :V ehu Ldos;j Msfo,”ku gS__________ 
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4. Find out the medician of the following 

numbers: 

 21, 12, 49, 37, 88, 46, 55, 74, 63 

 fuEufyf[kr la[;kvksa dh ekf/;dk Kkr dhft;sA 

 21] 12] 49] 37] 88] 46] 55] 74] 63 

5. Father of ethology is ________________? 

 O;ogkfjdh; ds tud ________________gSa 

6. Melathion is an organophosphate 

___________. 

 eSykfFk;ksu ,d vkWxksuksQkLQsV ___________ gSA 

7. Nest building in tailor bird is__________. 

 VSyj oMZ ¼nftZu fpfM;k½ ds }kjk ?kkslyk cukuk 

___________ O;ogkj gSA 
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8. Learning during childhood for a short 

sensitive period is ___________. 

 vf/kxeu O;ogkj dk ckY;koLFkk esa de ,oa 

laosnu”khy dky ___________ gksrk gSA 

9. Silk is produced by the salivary gland of 

_________. 

 js”ke fdldh ykj xzfUFk ls ___________cuk;k 

tkrk gSA 

10. Full name of IPM. 

 vkbZ ih ,e iwjk uke fyf[k;sa 

 

****** 


